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GENERAL STUDIES [PAPER-I)

|I Time Allowed : Three Hours Maximum Marks @ 250 ||

QUESTION PAPER SPECIFIC INSTRUCTIONS
(Please read each of the following instructions carefully before attempting questions)

There are TWENTY questions printed both in HINDI and in ENGLISH.

ALL gquestions are compulsory.
The number of marks carried by a guestion/part is indicated against it,

Answers must be written in the medium authorized in the Admassion Certificate which must
be stated clearly on the cover of this Queston-cum-Answer [QCA) Booklet in the space
provided. No marks will be given for answers writlen it a mediim other than the authonzed

one.
Answers to Question Nos, 1 to 10 should be in 150 words, whereas answers to Question
Nus, 11 to 20 should be in 250 words.

Word limit in questions should be adhered to.

Any page or portion of the page left blank in {he Queston-cum-Answer Booklet must he

clearly struck off.
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1. 3% sy HU H FrAme A 9w A weg @ B W (o who Fo) T witfew fr e 3| e
T 2017 § Grafam e we do F v fifemet w o oyl $£iRmg
(T 150 7=5) % difam)

Enumerate the indirect taxes which have been subsumed in the Goods and Services
Tax [GST) in India. Also, comment on the revenue implications of the GST
introduced in India sinee July 2017, (Answer in 150 words)

. A T W W e # T w9 3R (e do do) i wurdt wafs v e gpehify 3
wHo WiReE sdeEen sl {7 s 9= & wdn @ s A

(IM 150 =1 & i)

Do you agree with the view that steady GDP growth and low inflation have left the
Indian economy in good shape? Give reasons in support of your arguments.
(Answer in 150 words)

ThIFT S e (Mo The wHo) Frw WhN o M IR W EWIE WO H e 27

(TR 150 3= & Hfm)
How far is Integrated Farming System (IFS) helpful in sustaining agricultural
production? (Answer in 150 words)

. Ta-wlEtem &6 B I4eT § g w9 T ae- e e S aae 5 gl o

=i | (IW 150 w=a1 # 410
Elaborate the impact of National Watershed Project in increasing agricultural
production from water-stressed areas. [(Answer in 150 words)

T geE A FH-fEem % & § e W e Wit st 3o e wHe @il & dmer) §
e F TR TR age w? (3 150 7=t # ifim)

How was India benefitted from the contributions of Sir M. Visvesvaraya and
Dr. M. 5. Swaminathan in the fields of water engineering and agricultural science
respectively? _ (Answer in 150 words)

AN 1 9T W 1 SA g WE F S FN fE 2 i e efehty weEy =) 9v Ry v

= ggaeh? (3T 150 T=E1 § ifam)
What is India’s plan to have its own space station and how will it benefit cur space
programme? (Answer in 150 wards)

. OEW W] B, 92 9% 94 8 T A48y #, T i % ge 9ud 9t w2 B U 1) 9w 9o

ﬂtﬁ@ﬁﬂmﬁ%ﬁumm,ﬁﬁrzmwﬁarsmm%%gq,ﬁﬁwhﬁﬁmu
W (TW 150 w=] 1 Hifem)

Coastal sand mining, whether legal or illegal, poses one of the biggest threats to our
environment. Analyze the impact of sand mining along the Indian ceoasts, citing
specific exampies, (Answer in 150 words)
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Vulnerability is an essential element for defining disaster impacts and its threat to
people. How and in what ways can vulnerability to disasters be characterized?
Discuss different types of vulnerability with reference to disasters.

(Answer in 150 words)

S S N W WE-U-g 9 e @ S Tl ) wema wgen A I
Tl (3o Hie Ferge ) Y it o o1 b = W B ITe () Wi 89§ e
we| w FEEA agan 1§ gfy-aoh sl g fad W W it W oafem i wfi-ak
FHRFAAT ® 59" F Fewnfia =W F el A 9= At (3 150 7= ¥ i)

The banning of Jamaat-e-lslami’ in Jammu and Kashmir brought inte focus the
rule of over-ground workers (OGWs) in assisting terrorist nrganizations. Examine
the role played by OGWs in assisting terrorist organizations in insurgency affected
areas. [hscuss measures to neutralize influence of CGWs,

(Answer in I50 words)

HEEREN i 501 87 we it 6w § e s 1 Srifim 9 § 92 B e s

B T B (3 150 a1 A i)
What is CyberDome Project? Explain how it can be useful in controlling internet
crimes in India. (Answer in 150 words)

TR T Tom = & TR wEsh agis < weifa w1 smirm vy Rl o grefrm e
wE foF = R 5 wed W P i (I 250 v=dl § i)

It is argued that the strategy of inclusive growth is intended to meet the objectives of
inclusiveness and sustainability together. Comment on this statement.

{Answer in 250 words)

sw-Farie aEf % oum, T e & 9l A, JF s e s s & aed o R
W e Hif (I 250 v=) 1 Hifom)
The public expenditure management is a challenge to the Government of India in
the context of budget making during the post-liberalization period. Clarify it.
{Answer in 250 words)

3 qomet i S B HORR R BE-FE H GHTTHE e J8T T Y
(Fm 250 =i 7 difem)

What are the reformative steps talken by the Government to make food grain
distribution system more effective? (Answer in 250 words)

14. BRI wEER £ ) TR F gnem T uE s B e i i w aler e fifg

(3 250 w=a1 § =ifm)

Elaborate the policy taken by the Government of India to meet the challenges of the
food processing sector. {Answer in 250 words)
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- (3 250 =3 * )

How is the Government of India protecting traditional knowledge of medicine from
Answer in 250 words)

patenting by pharmaceutical companies? (

FouE B T W A a3 ¥ R 9 Sefe B TER wEee H®owEd 8
(I 250 =T 8 difn)

How can biotechnology help to improve the living standards of farmers?
{Answer in 250 words)

wfer § waft aiifales 43 33 mﬁmﬁméﬁmmﬁﬁqﬁﬁﬁmm%

Sl e (TEe daaTie) ) G S e T8 See &) AEE R we wEe 2
(I 250 T=a1 § Gi)

Define the concept of carrying capacity of an ecosystém as relevant to an

environment. Explain how understanding this concept is vital while planning for
sustainable developrment of a reginn. fAnswer in 250 words)

Fredl o) s yeins e 3 simder duill HEen @8R B § | qEEEH]  AER 8, T8 hINT 46 5
IET AT TR W e S § e W) (I 250 =1 T @fem)
Disaster preparedness is the first step in any disaster management process. Explain

how hazard zonation mapping will help disaster mitigation in the case of landslides.
{Answer in 250 words)

WA FER A oE o A il S (Feme) sfiem (o we dte ue), 1967 ot
THe WEe Uo HUFEH ¥ GUINA F T AEwan-Ud S B S F O 8| e S
T Tafies fraream (Pawa) sffm @ &0 96 = B o s ® =91 w0 999 9d9H
e oA % ged ¥, oftaddl & fayem i) (3 250 wi=gt  Ffam)
Indian Government has recently strengthened the anti-terrorism laws by amending
the Unlawful Activitics (Prevention) Act (UAPA), 1967 and the NIA Act. Analyze the
changes in the context of prevailing security environment while discussing the

scope and reasons for opposing the UAPA by human rights organizations.
{Answer in 250 words)

I-gd] M & sgvelad’ o SRR e, W i S wee e e gt §
B Had T 2| WIA-THER EE # 6N SeEE § AR B 9l fatiEm it s oalem Fifi
WY ¥ S W uinn FE F FeE W oSl i) (T 250 weat # HRm)
Cross-border movement of insurgents is only one of the several security challenges
faving the policing of the border in North-East India. Examine the various
challenges currently emanating across the India-Myanmar border. Also, discuss the
steps to counter the challenges. {Answer in 250 words)
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